NIOS Class 12 Biology Question Paper 2019 (Set C)

This Question Paper consists of 30 questions and 12 printed pages.
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in

the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4, Write your Question Paper Code No. 58 / OSS / 1, Set - C on the Answer-Book.

5. (@)  The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati, Konkani,
Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the Answer-Book.
(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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BIOLOGY (Theory)
St (FEgma)
(314)

Time : 3 Hours] [Maximum Marks : 80
a9 ;3 9] [qutier : 80
Note:i)  This Question Paper consists of 30 questions.

ii)  All the questions are compulsory.

iii) Marks for each question have been indicated against it.

iv) Each question from Q. Nos. 1 to 8 has four alternatives - (A), (B), (C) and (D), out
of which one is the most appropriate. Choose the correct answer among the four
alternatives and write it in your answer-book against the number of the
question. No separate time is allotted for attempting multiple choice questions.
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V) SRS T94 AT 1 | 8 a0, Tedsh T9H & TR dehieuss 3w (A), (B), (C) e (D) fea ma g fomw @ ver vt
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1. One of the macronutrient given below plays a key role in food production and

normal growth of the plant. [1]
A)  Boron

B) Copper

C) Carbon

D)  Uranium
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2. Which of the following enzyme is called "Joining Enzyme"? [1]
A)  Plasmids
B) DNA ligase
C) Protease

D) Amylase
ffeTitaa UsgHl | | fRE UATEH Wi ISt UATEH hEd @ ?
A)  wErErE
B) DNA &=
C) wfews
D) v
3. [1]
A)  Sac B) Leaf
D) Seed Coat
B) Gt
C) wm D) =
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4. Which chemical 1s involved 1n the transmission of nerve impulse across a synapse.|[1]
A)  melanin
B) Na(Cl

C)  Acetyl choline

D) Oxytocin
HAUUA (TTETH) F UR dHIeHT — AT o TERa & 8§ fifa e =t gf
A) Hentm

B) NaCl

SRR

D) StiawieiEE

5. Withreference to organisation of life, Rana tigrina comes into which category? [1]

A)  Community
B)  Species

C) Organism
D) Biome

Sfrar - daen 1 2 @ T R e Sof & st s 27

A)  TEH
B)  wdivirs
C) <=
D) ==
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6. Which of the following bacteria causes cholera? [1]

A)  Vibrio cholerae

B) Rhizobium

C) Azotobacter

D)  Lactobacillus

frafeRaa o | ferm Sfamoy & swwoT g T W a2 e

A) fatea s
B) UEsieaEm
C) Ui

D) W eRET

7. When the genetically engineered bacteria clean up pollutants from the environment,
they are called . [1]

A)  transgenic animals

B)  bio-diesel

C) bio-gas

D)  bio-remediation
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8. Name the complex tissue which function as a unit to conduct water and minerals
upward from root to leaves. [1]

A)  Phloem

B) Parenchyma
C) Xylum

D)  Sclerenchyma

39 SAfEA Fncteh hl ATH FATZT T TS H Tt JHW Teh el Ul WIS Shl UgAT Sl Teh 1S o &
" Sl L 2

A) wAEH
B) WA
C) g™
D) <gds
9. What are the factors responsible for population explosion in India? [2]

WA H SEEAT — fOewie o o1 Rt 8 2

10. Define the term inflorescence. What are the major types of inflorescence in flowering
plants. [2]
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11. Answer the following : [2]
a)  Which phase of growth curve shows rapid and maximum growth?
b)  Whatis the term used for inducing early flowering in plants at low temperature?

c)  Name the specially designed equipment used to measure the rate of growth of
shoot length of plants.

d)  Whatis the hypothetical plant hormone which 1s responsible for initiation of
flowering 1n plants?

fAtefoiRaa & sw difse

a)  gig ol HIE TrEEAT o R g 3R iR gig 2 27

b) il # f= ATUsER W Sed yoaa skt Afta A & foru i -an vides wgens feren s 22
c)  UIEH H WIE Tl FETS W Jieg hl HIUH o ToTu favi &0 ¥ d9R fohd 7= 3uehiut &1 918 Saise |
d) Ui § geE SIREA T o foru aftekicud Uty giq SiH—1 8 7

12. Write any four advantages of Bio-diesel. [2]
Sa - e o i AR ATH Farsu |

13. Where does spinal cord 1s located in human beings. Mention 1ts main function. [2]

Al H W& gl [EUd gt 8| Heds] &1 T e Farsu |

14. Give reasons : 2]
a)  Habitat 1s called an address of the organism.

b)  Fins are an adaptations of fish to aquatic life.

<h {07 ddlsU .
a)  Sd o AT o UIiarE 31 Thad 8 ?
b) cia Siaq & 10 U@ Ut & Adhe aid ¢ |
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15. What s the importance of balanced diet? Reason out the special diet recommendation

to pregnant and lactating women? [2]
HfeTd JTER T Hgeel TAT3T | THIEERN 3R U Afgenad o o1y i megr 3 @ stavaes
27

16. Give an example for each of the following : [2]

a)  Aecrobic bacteria which fixes nitrogen
b)  Anaerobic bacteria which fixes nitrogen

c)  Cyanobacteria which fixes nitrogen

d)  Photosynthetic non-sulphur bacteria which fixes nitrogen

g & Feorfemon § wgraes frafoRaa wefta gewsial o us—ueh 3areeut dfe
a) O San]

b) IE™EE™ SE]

c)  WEHNIAEN]

d) URIES TR Tew SHam]

17. Draw a neat diagram of human lung and label the Larynx and trachea parts : [2]
T oh ARl Th1 Ueh o0 3TN SFTST Al 36 (efoTiad Wit Waiiehd ShifeTt | & Ua yarae |

18. A person has protruding eyes, stunted growth, retarded mental growth, delayed
puberty and low metabolite rate. [2]

a)  Whatis this condition?
b)  How to prevent it?

Ueh STk AEfeiRad foehri | difed 2 -

- 3T AT R A IWE g

- orasg afg

. wa

-  factaa Saareeen

- U - A=

a) safRfdsFnTm R amae?

b) szt afrayErRsnawEaE?
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19. Observe the diagrams and answer the following : [2]

a)  Are these type of stomata found 1n monocots or dicots?

b)  Mention their main function.

=t fau o st i gRan 3R FAfeitaa geat & W dit

a) T WehR o 1Y UehalloTu=Nl Uien W U0 S g | 31eran foeforash ier o 2

b) ¥ Tq@ % AT |

20. How 1s the phenotypic ratio of F, -generation in dihybrid cross 1s different from
monohybrid cross? 2]

fodet shtEl § F, Hafd o STuniedt s{ard Tehee shid | o1 {9 gran 22
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21. Give reasons : [2+2=4]
a)  Sino-atrial node 1s called pacemaker of the heart.

b)  Person with blood group 'O’ called Universal donor.
IO FATS0 ;

a) T atferg (Sino-atrial) T &1 TGA 1 TEHHT 1 had & ?
b) 'O wfr o At st w AT v i w7

22. Differentiate between "vascular cambium" and " cork cambium". [4]

“Hagl chiteraH’ 3R “‘hieh hitea® W 37aR aTsU |

23. A man with 'A' blood group married a woman with blood group 'B'. Work out a
cross to show possible blood groups that can be expected 1n their off springs. [4]

HHIT A 3R B 6 o aret fordlt gew 3R &t | Ic0d Tdid o SHTel Wh a9 ol g9+ aTell Ueh
Shid ST |

24.Write short notes on :- [2+2=4]
a)  Mode of nutrition 1n Yeast.

b)  Sexual recombination in Bacteria.
fAafeiRaa w wterm oot foRau .
a) e <kt wmur - fafe

b)  Siam | @fes g
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25. Draw a schematic diagram of "Carbon Cycle". [4]
TS — A5k 1 Ueh AISATEE 3G JA1SU |

26. "Genetic code 1s universal and common for almost all organisms on earth".
Explain. 4]

‘gt W AHL SHiEl i AT IS TAAT AHI 3R WG gl gl ST il |

27.a)  Whatis "Criss - Cross inheritance"? [1]

b)  Whyisred - green colour blindness more common 1n males than temales?|2]

¢)  How is colour blindness inherited? Explain with the help of flow chart. ~ [3]
a) Torm g Svmifa S At 82

b)  ee-gh guitean Rl St qer § gest § it @ ar e £

c) Uiyt FH AV foRE TR Eie 27 Uk WaTE A Y et @ Saren Hif |

28.a)  Name the scientist who discovered C, cycle. [1]
b)  Draw a neat schematic diagram of C, cycle in plants. [3]
c) Justity your answer why C, plants are most efficient than C, plants? [2]

a)  C, =ik i WA T ATA ATk 1 AT FATST |
b) Wi C, =k 1 Tk o0 AeHEg ARG T3 |
c) C,utei & sruen C,did i 3tk TR Fid 1 31U I ht gig Fif |

29.a)  Write any four salient features ot Class-Aves with two examples. [4]

b)  Define "Alteration of generation", with one example. [2]

a) I IIET A gL VA a1 o <hig oI Feridne sreron =amsu |
b) U I T it — Tehrawor” ki i ferien |
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30. a)  Whatis somatic gene therapy? [1]

b)  List out the steps involved in Ex-vivo gene therapy. [4]

¢)  Name two genetic disorders can be treated by this technique. [1]
a)  HIFIeh S — TSR AT gt 8 2

b) wwmdEt (Ex-Vivo) = su=r 4 ffga faftm =rutt it wrieg Fifs |

C)  3H TAH-Ieh ¥ IUARA N ATAIEH Tl hi FATIT |
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